" id_opravar INT » nazev VARCHAR(45)

> jmeno VARCHAR(45)
2 prijmeni VARCHAR(45)
> d_nastupu DATETIME
> mzda SMALLINT

S Indexes

o telefon INT Ul |

> mesto INT '/ OPRAVAR_id_opravar INT 7 idTYP_AUTA INT

 ODDELENL_id_oddeleni INT " ZAKAZKA id_zakazka INT  nazev VARCHAR(45)
Indexes

& MESTO_idMESTO INT

Indexes 7 idZNACKA_AUTA INT
> nazev VARCHAR(45)
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7 id_zakazka INT
> d_prijem DATETIME
% d_vydej DATETIME

> cena INT
> znacka_auta INT e e " id_zakaznik INT
"/ id_oddeleni INT > typ_auta INT > jmeno VARCHAR(45)
> nazev VARCHAR(45) < rok_vyroby INT 2 prijmeni VARCHAR(45)
2 pocet_pracovniku INT & ZAKAZNIK_id_zakaznik INT Pl 'i > telefon INT
& TYP_AUTA_IdTYP_AUTA INT [ 4 | 7 mesto INT
Indexes & ZNACKA_AUTA_idZNACKA_A... & MESTO_idMESTO INT
m ! ZAKAZKA _id_zakazka INT

'/ UKON_id_ukon INT

" id_ukon INT
< cena INT

> nazev VARCHAR(45)

> ODDELENI_id_oddeleni INT

7 id_dily INT
> nazev VARCHAR(45)
> cena VARCHAR(45)

m

" UKON_id_ukon INT
~ 7 DILY_id_dily INT
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Indexes




